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101652000001043 | & &%k HIRRF P 040102 RESHFER Ea=k 372 9 88.6 358 1334 | 78.76 | fIEE
101652000007866 | HIBR 2R 045110 | ZHFRIFEFE (1) ekl 398 9 90.8 374 137.2 | 83.16 | #FE
101652000007848 | £ AR IR 2T 045110 | ZEREZFE (HIF) Ex=k 388 6 85.2 35.2 1264 | 79.6 |#IEE
101652000007851 | FhiEE HIRR R 045110 | ZHFREFE (i) ekl 383 9 88.4 37.2 134.6 | 80.54 | #IFEL
101652000007781 | Z=#% IR 20T 045110 | ZEREZFE (HIE) Ex=k 374 8 87 36.8 131.8 | 78.72 | #IRE
101652000007844 | % K HIBR R 045110 | ZERFZFE (HIEF) E=k 372 10 83.8 374 1312 | 78.32 | #I%E
101652000007780 | EME IR R 045110 | ZREFE (HIF) EA=L 366 8 85.8 348 1286 | 76.96 | #3FEE
101652000007869 | #X7k & IR0 045110 | ZRFZFE (HIF) =k 364 8 80.4 334 121.8 | 75.32 | #IFEE
101652000007875 | %31z 88 HIRR LT 045110 | ZERIFE (i) Ea=k 364 8 85.4 35 1284 | 76.64 | #IFE
101652000007805 | XA HIBR 2R 045110 | ZHFRFEFE (1) ekl 360 8 84 34 126 | 756 |[#MFEB
101652000007719 | Z=%% HIBRLZ 2T 045110 | ZEREZFE (HIE) EA=k 356 8 92 358 1358 | 77 [#IEER
101652000007809 | | &% HIBRE 2R 045110 | ZFRFEFE (1) ekl 353 8 83.8 34 125.8 | 74.58 | #IFE
101652000007691 | 3K/ HIERF B 045110 | FREFE (M) Ea=kl 351 7 83.2 34.4 124.6 | 74.06 | #UFE
101652000008480 | 53/ % HIRR 20 070501 B AR =kl 409 8 85.4 31.6 125 | 82.26 |#MFEHE
101652000008495 | Fy#E3E IR S0 070501 BRI Ea=kl 405 7 84.6 306 122.2 | 81.14 [#IEE
101652000008582 | Z=3% HIER 20T 070501 B AR E=k 404 9 86.4 33.2 128.6 | 82.28 | #AFHEL
101652000008383 | X F# IR S0 070501 BAMIES Eal=kl 395 9 81.8 29 119.8 | 79.26 | #IEE
101652000008477 | 2% & HIBRE 2R 070501 B AR E=k 392 7 88.6 336 129.2 | 80.72 | #UEKER
101652000008219 | E4azh IR F R 070501 HAMIE EN=k 384 9 86.6 332 128.8 | 79.52 | #LIFEL
101652000008367 | F3@f HIBRF R 070501 B AhIEZ E=k 382 8 83.6 33.2 124.8 | 78.44 |3UFE
101652000008422 | sk HIRRF R 070501 B AR Eal=kl 382 9 88 328 129.8 | 79.44 | #IEER




101652000008576 | £+ IR F 0 070501 B IR EA=k 382 86.4 316 125 | 78.48 | #IRE
101652000008631 | 43& IR 20T 070501 BRI 2B 382 83.2 32.6 1238 | 78.24 | #IFE
101652000008223 | 2K AR HIBRF R 070501 HAMIEE cA=E 380 86 34 129 79 | HARER
101652000008378 | FHEAT IR 20T 070501 BRI Ea=kl 378 80.2 32 1212 | 77.16 | #IFE
101652000008404 | EEF HIBRLZ 2T 070501 B A IR Ex=k 374 86.6 336 1282 | 78 |#IFEBE
101652000008257 | E#k HIER FE 20T 070501 BRI £ H 373 83.8 32.8 1246 | 77.14 | #IFE
101652000008387 | EX 4K HIERF R 070501 B AMIE S Ea=kl 373 80.2 30.2 1184 | 759 [3IUFEE
101652000008575 | &% IR 20T 070501 BRI 2Bl 373 81.2 29.8 118 | 75.82 | #FEE
101652000008194 | T HIERF R 070501 B IR EN=k 372 774 338 1202 | 76.12 | #IREL
101652000008353 | #EF 1 HIBR S0 070501 B A IE =L 372 82.2 314 1226 | 766 |#HIFE
101652000008368 | =it HIBR S0 070501 B AR Eal=kl 371 81.4 34 1234 | 76.62 | 3UFE
101652000008581 | Zfi HIER 20T 070501 BRI 2B 371 88.4 34.6 131 | 78.14 [#FEB
101652000008384 | ERH HIRR P 070501 B AR Eal=kl 370 81.8 31.6 122.4 | 76.28 | #UFE
101652000008370 | Z443H IR 20T 070501 BRI 2Bl 368 79.8 30.6 1184 | 752 |#FE
101652000008434 | XI3&X HIRR P 070501 B AR Ea=kl 366 86.8 322 127 | 76.64 | #EER
101652000008183 | Z=%¥k IR 20 070501 B AR E=k 363 81.8 31.6 1214 | 751 |#FE
101652000008320 | XIE4R IR 2T 070501 B A IR Ex=k 363 81.6 31 1206 | 74.94 | #I%E
101652000008325 | 3kEEEx IR 20T 070501 B AR c=kl 361 79.4 31 1194 | 74.42 | #JFE
101652000008330 | #2EL HIER R 070501 B AR Ea=kl 360 81 29.2 117.2 | 73.84 [ #IEER
101652000008162 | X1 HIBR 2R 070501 B AIE c=kl 358 83.2 304 122.6 | 74.64 | #UFEER
101652000008174 | BI&E HIBR S0 070501 B AR Ea=kl 357 84.2 306 123.8 | 74.74 [ #IEER
101652000008238 | R IR 20T 070501 B AhIEZ E=k 357 80.2 30 1182 | 73.62 | #FE
101652000008372 | X4 HIRRF R 070501 B AR Eal=kl 357 85.8 31 124.8 | 74.94 | 3UFE




101652000008196 | Z=1&15 IR F 0 070501 B AR Eal=kl 356 75.2 28.6 111.8 | 722 [#IER
101652000008200 | #BE&H IR 20T 070501 B AhIEZ ekl 356 73.2 31.2 1124 | 72.32 | #IFE
101652000008237 | =X HIBRF R 070501 AR cA=E 356 70 27 106 | 71.04 | #IFEE
101652000008379 | Eeg43H IR 20T 070501 B AR =kl 355 73.2 314 1136 | 72.42 | #IFE
101652000008430 | # % IE HIBRL 2T 070501 BAMIES EaA=L 355 75 306 1126 | 72.22 | #I7E
101652000008435 | 3K B1f, HIER 2R 070501 B AR EN=k 355 68 27.8 103.8 | 70.46 | #IFE
101652000008361 | TZ £ IR F P 070501 BAMIES £ A 354 KIRE] | RIRE] | RFE
101652000008518 | F#HE HIBR 2R 070501 B AR c=kl 353 70.2 28.6 105.8 | 70.58 | #UFKE
101652000008246 | F it IR F R 070501 BRI EA=k 352 714 284 105.8 | 7044 [#IEE
101652000008317 | #B&1H HIBR S0 070501 B A IR E=k 351 75.8 306 1154 | 72.22 | #IFE
101652000008626 | X E %1 IR S0 070501 B AR Ea=kl 351 71.6 31.2 111.8 | 715 [#EER
101652000008683 | 155X IR 20T 070501 B AR ekl 351 73.2 29.8 112 | 7154 [#FEB
101652000008395 | i F3& HIERF P 070501 B AR Ea=kl 350 73.8 298 110.6 | 71.12 [#EER
101652000008459 | #ARGSE HIER 2R 070501 B AR ekl 350 71.6 26.2 106.8 | 70.36 | #lFE
101652000008659 | 1aI5& HIBRL 2T 070501 B AR EA=k 349 71 284 1054 | 69.94 | #IFEL
101652000008436 | Z=FH HIER 20 070501 B AR EN=k 348 72.2 30.2 1114 | 71 | #FER
101652000008267 | S%3esE IR F R 070501 AR £ A 345 714 26.8 107.2 | 69.74 | fIEER
101652000008371 | X FR{% IR 20T 070501 B AR c=kl 345 74.2 314 1116 | 70.62 | #AZE
101652000008638 | E#4 HIER R 070501 B AR Eal=kl 344 71.6 27.2 105.8 | 69.32 [ RFEH
101652000008176 | R 4k5H HIBR R 070501 B AIE c=kl 343 74.4 298 110.2 | 70.06 | FUFE
101652000008637 | B=F HIBR S0 070501 BRI Eal=k:l 343 71.6 28.2 106.8 | 69.38 | RFH
101652000008329 | EE & IR 20T 070501 BRI Ea=FKl 342 69.4 28.6 106 | 69.08 | FKFHE
101652000008227 | #%M HIBRL 2T 070501 B A IR Ex=k 341 74 29.8 1118 | 70.1 |#IEE




101652000008547 | #sk % IR 20T 070501 B A IR EA=k 341 9 75.2 308 115 | 70.74 | #lFZB
101652000008270 | ;RiELE HIBR R 070501 BN IEZ Ex=k 340 7 68.2 26.2 1014 | 67.88 | RFE
101652000008415 | ¥ HIERF P 070501 B AR Ea=kl 340 6 73.6 29.8 109.4 | 69.48 | #UFE
101652000008565 | FRIEX IR 20T 070501 B AhIEE ea=kl 340 KIREN | KIREN | RFER
101652000008498 | B2k & IR F P 070501 BRI Eal=kl 339 8 76 30.8 114.8 | 7042 | #UFER
101652000008344 | 3KAR IR 20T 070501 B AR ca=Kl 338 9 75.8 30.6 1154 | 704 |#IFE
101652000008628 | T4#E%E HIBR F R 070501 HAMIE £ A% 338 8 704 30 1084 | 69 [FRZFEH
101652000008532 | fF4% HIBR 2R 070501 BRI EA=k 337 8 73.8 28.8 1106 | 69.3 [RFEH
101652000008488 | &7 HIER R 070501 B AR Ea=kl 335 8 71.6 28 107.6 | 68.42 | RFEH
101652000008564 | BH& R HIBR 2R 070501 BRI EA=k 334 7 70.6 25.2 102.8 | 67.32 [ RFEW
101652000008623 | 4% HIRR B 070501 BRI EA=L 334 9 69.4 26.4 104.8 | 67.72 | RFER
101652000008629 | ¥ 1&#% IR 20T 070501 B AhIEZ 2Bl 334 9 70.8 27 106.8 | 68.12 | FRFH
101652000008086 | SEF HIER S0 070502 A IR Ea=kl 398 10 98.2 384 146.6 | 85.04 [IEE
101652000008021 | Ei#&=F HIBRE 2R 070502 AX IR EA=k 392 9 94.4 356 139 | 82.68 | #IFEX
101652000007938 | ZRE HIERF P 070502 A IR Eal=kl 391 9 94.2 35 138.2 | 82.38 [ #IEE
101652000008015 | Fhitk HIBR 2R 070502 AXHhIEE Ex=k: 388 8 95.4 36.4 139.8 | 82.28 | #IFEX
101652000008058 | 3K HIER R 070502 AX IR Eal=kl 377 8 91 356 134.6 | 79.7 |#IEER
101652000008013 | GfE HIBR 2R 070502 AXHhIE Ea=Fkl 373 8 95.6 36.2 139.8 | 80.18 | #AZEL
101652000007988 | f&&F47 HIER R 070502 AXHhIEE Eal=kl 371 8 90.2 34 132.2 | 78.38 [ #lEKEL
101652000008131 | T= HIBR 2R 070502 A IR 2 A=k 369 8 92.8 372 138 | 79.26 | #IFE
101652000007985 | frBE HIBR S0 070502 AX IR Eal=kl 367 8 92.8 35.4 136.2 | 78.62 | #IEER
101652000008071 | X—R, HIBR S0 070502 A IR £H4 366 8 924 37 1374 | 7872 | #1FEE
101652000008148 | & Mg HIERF P 070502 A IR Eal=kl 366 10 96 36.2 142.2 | 79.68 | #IEE




101652000008098 | aK3& HIBRF R 070502 ASCHhIRE EA=L 365 92.8 36.4 137.2 | 78.54 | #IEER
101652000007971 | FAm&E IR 20T 070502 ASCHhFE 2 2B 364 20.4 35 1334 | 77.64 | #IFE
101652000007949 | #zE3E HIER S0 070502 A IR Eal=kl 361 93.2 358 137 | 77.94 | #EE
101652000008011 | 3k E&# IR 20T 070502 ASCHhFE 2 2Bl 361 92.2 36.2 136.4 | 77.82 | #IFE
101652000007927 | FrE= & HIER S0 070502 A IR Ea=kl 359 90.4 33.8 131.2 | 765 |[3UFEE
101652000008141 | $hi818 HIER 20 070502 ASCHhFE 2 2Bl 356 93.6 35.6 137.2 | 77.28 | #IFE
101652000008107 | ¥4 HIER 20 070502 A IR Ea=kl 355 90.2 34 133.2 | 76.34 [ #UFEE
101652000007895 | 2k 3 HE HIBR S0 070502 A IR E=k 353 93 356 1366 | 76.74 | #IFE
101652000007899 | #1545 HIBR S 070502 AXHERE E=k] 353 91.2 3438 134 | 76.22 | #FB
101652000008125 | AFk B HIBR S0 070502 A IR 2Bl 351 91.2 348 134 | 75.94 | #lFE
101652000008129 | 3k% % HIBRE AR 070502 A IR Eal=kl 350 83.6 30.2 120.8 | 73.16 [ #IEER
101652000008036 | D& # HIBR S0 070502 AR ==k 348 90 32 131 | 74.92 | #lFE
101652000007968 | {£7&5F IR 20T 070502 A ERE < Bl 346 84.6 29.6 121.2 | 72.68 | #lFZB
101652000008075 | XJ38Fk HIBR S0 070502 AR 2Bl 346 878 268 1236 | 73.16 | #IFE
101652000008140 | A4RZ% HIRRF P 070502 AX IR Ea=kl 345 88.4 32 129.4 | 74.18 [ #IEER
101652000008077 | BEEK, HIBRFE 2R 070502 A Ea=FKl 344 86.6 324 126 | 73.36 |#FEE
101652000007925 | %37 2 HIBRF R 070502 ASCHhIRE EA=L 343 84 304 1224 | 725 |#IFEE
101652000007963 | #kIZ HIBR 2R 070502 A IR E=k 342 82 27.4 1154 | 70.96 | #lFE
101652000007969 | ¥t HIBR S0 070502 A ERE < Bl 342 77 276 1136 | 706 |#IFE
101652000008066 | 2z HIBR S0 070502 A IR 2Bl 342 82.8 276 1194 | 71.76 | #IFE
101652000007957 | &tz IR 220 070502 AXHIB = c=k 340 77.8 28.6 1134 | 70.28 | RFH
101652000008124 | 3k —#& HIBR S0 070502 A IR ==k 340 772 284 1136 | 70.32 | KRFH
101652000007907 | B&i¥ 51 HIERF P 070502 AXHhIEE Ea=kl 339 82.4 296 118 | 71.06 | #IEE




101652000007987 | B HhIRR R 070502 AR £BH 338 9 754 27.2 1116 | 69.64 | KFEH
101652000008152 | & HIBR S0 070502 A FR £H4 337 8 754 27 1104 | 69.26 | RFEH
101652000008153 | i HIBR S0 070502 A IR EA=k 337 8 78.6 30.2 116.8 | 70.54 | RFB
101652000008067 | BEZ HIBRFE R 070502 A IR =kl 336 7 78 26.4 1114 | 69.32 | FRFH
101652000008063 | Gyi&=¢ HIER F R 070502 A IR ek 335 7 80 278 114.8 | 69.86 | AKFE
101652000007900 | & B #R HIRR SRS 070502 A FR £HE 331 8 75 282 1112 | 6858 | KRFEH
101652000008010 | FMEBRE HIERF R 070502 AXHhIEE Ea=k:l 331 9 85.6 31 125.6 | 71.46 | fIEER
101652000009009 | B# HIER 2T 070503 |HEFSHIFEL RG] ©H4H 407 9.7 94.6 358 1401 | 85 [#UFEW
101652000008945 | F3#&#x HIER R 070503 |HEZSHIBEERS| £BH 399 9 94.2 34.6 137.8 | 83.42 [#IEE
101652000008984 | 3K I HIBR S0 070503 |HEFSHIBEL RS £ 398 9.1 934 338 136.3 | 82.98 | #IFE
101652000009002 | #XHj HIBR S 070503 |[HhEFSHIBEE RS £H% 395 9.4 92.6 33 135 | 82.3 |#UFEE
101652000008954 | 1& AR E IR 20T 070503 |hEFSiBEE RS £H% 386 93 91 32 1323 | 80.5 |#FE
101652000008990 | B %R HIRRF P 070503 |HhEZS5HIBEERS| £BH 381 9 91.8 322 133 | 79.94 | #EE
101652000008988 | &7 HIFR 2 070503 |HEZSHIEEE RS A 381 9.2 89.4 31.2 129.8 | 79.3 [#IFER
101652000008987 | 4R35 A HIRR S0 070503 |HEF5HIBEERRS £B% 374 9.2 93.2 33 1354 | 79.44 |#UFE
101652000008957 | 3Kk F HIRR 20 070503 |HEF 5HIBEE RS B 372 9 90.4 30 1294 | 77.96 | #IFE
101652000009039 | E X4 IR R 070503 |HEZEHIBELRRS%| £8% 372 9.2 934 324 135 | 79.08 | #UEEL
101652000008983 | ==& IR0 070503 |HEFSHIBELRSG| €% 367 8.6 90 29 1276 | 769 |[#IFEE
101652000009010 | R3& HIERF B 070503 |HEZSHIBERRS| B4 365 8.5 89.8 30 128.3 | 76.76 | #IFE
101652000009027 | EZE IR0 070503 |HEFSHIBERRS%| €% 365 9.1 87.4 29 1255 | 762 |#IFE
101652000009021 | E£Z& IR 070503 |HEFE5HIBELRRS| £B% 363 8.7 86.6 28.8 124.1 | 75.64 | 3UFE
101652000009017 | Ei#& IR 20T 070503 |thEFSiBEE RS £H% 360 9.7 87.6 28.2 1255 | 755 |#FE
101652000009033 | 38 HIRRF B 070503 |[hEFSHIBEE RS £HH 358 9 87.4 30.2 126.6 | 75.44 |3UFE




101652000008935 | ZR{R IR F b 070503 |MEFSMBELSRS%| £BH 356 9 84.6 26.2 119.8 | 738 [#IEE
101652000008968 | 3k # P IR 20T 070503 |thEFSiBEE RS B 356 93 86.4 27.8 1235 | 7454 | #IFE
101652000009034 | XA M8 HIERF B 070503 |HEIZSHIBEERS| ¢ HH 356 8.9 86.6 274 1229 | 7442 | #IFB
101652000009024 | X|&#E HIFR 20 070503 |HEFSHIBELR RS €4 355 8.9 89 304 1283 | 75.36 | #lFEH
101652000009019 | &I HIRR S0 070503 |HEZ5HIBEERRS| £B% 353 9 84 26 119 | 73.22 | #UFEE
101652000008960 | #7415 HIFR 0 070503 |HEFSHIBEL RS €% 348 78 83.8 248 1164 | 72 |#FER
101652000009040 | &M HIRR S0 070503 |HEFE5HIBEERRS| £B% 347 8.5 81.8 23.6 1139 | 71.36 | il3EE
101652000008966 | E & HIBR LT 070503 |HEFSHIBELRS%| ©H% 346 8.8 82 238 1146 | 71.36 | #IFE
101652000008999 | 3k EK%H IR 2R 070503 (MEZSHIBELRS| £HH 345 8.6 80.8 228 112.2 | 70.74 | #IFE
101652000008980 | F24% HIRR R 070503 |HEFSHIBELRS%| ©H% 337 8.7 79.8 22 1105 | 69.28 | #AFZEL
101652000008976 | s HIRR S 070503 |HEFS5HIBEERS 8% 332 8.9 85 27 120.9 | 70.66 | #UFEL
101652000008970 | 3k hN& IR 20T 070503 |hEFS5iIBEE RS £H% 331 8.2 82 24.4 1146 | 69.26 | #lFE
101652000009008 | 2 BA=F HIERF B 070503 |MEFSHBEL RS £HH 331 7 79.8 238 110.6 | 68.46 | RFEH
101652000009015 | EEH: HIBR 2 070503 |HEZFSHIBPESRSG| €A% 326 8.2 79 212 1084 | 67.32 | RFEW
101652000008955 | 4k ## 2 HIERF B 070503 |HEZFSHBELRSL| £BH 321 8.5 79.6 232 111.3 | 67.2 [ RZFER
101652000008943 | MRS HIER R 070503 |HMEZSHIBEERS%| €HH 317 8 79.4 216 109 | 66.18 | R3FE
101652000009020 | #X & IR F R 070503 |HEFSHBELRL| £BH 316 7.8 78 21 106.8 | 656 |[ZAKFE
101652000008948 | BRZE HIFR 20 070503 |HEFSHIBELRRSG| €% 313 76 82 236 1132 | 66.46 | RFEMR
101652000009028 | #@= HIER B 070503 |MEZSHIBERRS| B4 313 7.5 776 19.4 1045 | 64.72 | RFE
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